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113 40000,  0.0] 4000.0| 4000.0 00, 00/ 00 00| -4000.0| -4000.0,  -4000.0
114| 81000  0.0| 8100.0 7859.5 00/ 00 00/ 00| -8100.0 -7859.5 -11859.5
115 72000,  0.0| 7200.0| 6778.8 00/ 00 00| 00| -7200.0, -6778.8 -18638.3
116 134.1) 1341 1225 11235 88.8 12122 1107.4| 1078.1| 984.9| -17653.4
117 1355 1355 1202| 11356 89.7| 12253 1086.2| 1089.8|  966.0, -16687.4
118 1370,  137.0 117.8| 1147.9 90.7| 12386 1065.3| 1101.6| 947.4 -15739.9
119 1385 1385 1156 11603 91.7| 1251.9) 1044.8/ 1113.4| 929.2 -14810.7
120 1400  140.0| 1134 1172.8) 92.6| 12655| 1024.8| 11255/ 911.4 -13899.3
121 1415/ 1415 1112 11855 93.6| 1279.1] 1005.1| 1137.6| 893.9| -13005.4
122 1430/ 1430/ 109.0/ 1198.3| 94.7| 1292.9| 985.8| 1149.9| 876.7| -12128.7
123 1446 1446 1070/ 12112 95.7| 13069 966.8) 1162.3| 8599 -11268.8
124 146.1) 1461 1049 12243 96.7| 1321.0| 948.2| 11749 8433 -104255
125 147.7)  147.7) 1029| 12375 97.8 13353 930.0| 1187.6| 827.1) -9598.3
126 149.3|  149.3] 1009 1250.9| 98.8 1349.7| 9122 12004 811.3] -8787.1
127 150.9|  150.9| 99.0| 1264.4| 99.9| 1364.3| 894.6| 12134 795.7| -7991.4
128 1525 1525/ 97.1| 1278.1| 101.0| 1379.0| 877.4| 12265  780.4{ -7211.0
129 1542 1542|952 12919 102.1| 13939 860.6| 1239.7| 7654 -6445.6
130 1559 155.9| 93.4| 13058 103.2| 14090 844.1| 1253.1| 750.7| -5695.0
131 157.5|  157.5| 916 1319.9) 104.3| 14242 827.8| 12666 736.3) -4958.7
132 159.2|  159.2| 89.8| 1334.2| 105.4 1439.6| 8119 1280.3| 7221 -4236.6
133 1610 161.0/ 88.1| 1348.6 106.5| 1455.1| 796.3| 1294.1| 708.2( -3528.4
134 162.7| 162.7| 86.4| 1363.1] 107.7| 1470.8| 7810 1308.1| 694.6| -28337
135 1645 1645 84.7| 1377.9) 108.8 1486.7| 766.0/ 1322.3| 6813  -2152.4
136 166.2) 166.2] 83.1| 13928 110.0| 1502.8) 751.3| 13365  668.2) -1484.2
137 168.0/ 168.0 815 1407.8| 111.2| 1519.0, 736.9| 13510/ 6554/  -828.9
138 169.8)  169.8| 79.9| 1423.0 112.4 1535.4| 722.7| 13656 642.8)  -186.1
139 1717| 171.7| 78.4| 14384| 113.6| 15520/ 708.8| 1380.3] 630.4( 4443
140 1735 1735 769 1453.9| 114.9| 1568.8| 6952 13952 618.3]  1062.6
141 175.4| 1754 75.4| 14696 116.1| 15857 681.9| 14103 606.4|  1669.1
142 177.3|  177.3| 74.0| 14855 117.3| 1602.8 668.8| 14255 ~ 594.8)  2263.9

19300.0| 4177.9| 23477.9|21238.1| 35002.6|2765.0{37767.6/23502.0/ 14289.7| 2263.9
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%72 IR RENE £

Hr:13~

= HATEE asEE \ .
& BeE | it

T .. EE wE e mam| PR BRE | e

& o x| 20 B B s e e
113| 4000.0| 4000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 -4000.0| -4000.0| -4000.0
114| 8100.0| 7859.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0/ -8100.0| -7859.5/-11859.5
115| 7200.0| 6778.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 -7200.0| -6778.8/-18638.3
116 134.1| 1225/ 58.4 0.0 0.0/ 72.0| 119.1 -34 -3.7 -3.4|-18641.7
117 135.5| 120.2| 58.4 0.0 0.0/ 72.8| 116.3 -3.9 -4.4 -3.9|-18645.5
118 137.0| 117.8| 58.4 0.0 0.0/ 73.6| 1135 -4.3 -5.0 -4.3|-18649.9
119 138.5| 115.6| 58.4 0.0 0.0/ 74.4| 110.8 -4.8 -5.7 -4.8|-18654.7
120 140.0| 113.4| 584 0.0 0.0| 75.2| 108.2 -5.2 -6.4 -5.2(-18659.9
121 141.5| 111.2| 58.4 0.0 0.0 76.0| 105.6 -5.6 -7.1 -5.6/-18665.5
122 143.0| 109.0, 58.4 0.0 0.0 76.8| 103.1 -6.0 -7.8 -6.0(-18671.4
123 144.6| 107.0| 58.4 0.0 0.0/ 77.6| 100.6 -6.3 -8.5 -6.3|-18677.8
124 146.1| 104.9| 58.4 0.0 0.0/ 78.5| 98.2 -6.7 -9.3 -6.7|-18684.4
125 147.7| 102.9| 58.4 0.0 0.0/ 79.3] 95.9 -7.0 -10.0 -7.0/-18691.4
126 149.3| 100.9| 116.8 0.0 0.0 80.2| 133.1 32.2 47.7 32.2|-18659.2
127 150.9| 99.0| 116.8 0.0 0.0 81.0| 129.7 30.8 46.9 30.8/-18628.4
128 1525/ 97.1| 116.8 0.0 0.0/ 81.9| 126.4 29.4 46.2 29.4/-18599.1
129 154.2| 95.2| 116.8 0.0 0.0/ 82.8| 123.2 28.0 45.4 28.0{-18571.0
130 155.9] 93.4| 116.8 0.0 0.0/ 83.7| 120.1 26.7 44.6 26.7|-18544.3
131 1575/ 91.6| 116.8 0.0 0.0/ 84.6| 117.1 255 43.8 25.5|-18518.8
132 159.2| 89.8| 116.8 0.0 0.0 855| 114.1 24.3 43.1 24.3|-18494.5
133 161.0/ 88.1| 116.8 0.0 0.0/ 86.4| 111.2 23.1 42.3 23.1|-18471.4
134 162.7| 86.4| 116.8 0.0 0.0/ 87.4| 108.4 22.0 41.5 22.0(-18449.4
135 164.5| 84.7| 175.2 0.0 0.0/ 88.3| 135.8 51.0 99.0 51.0{-18398.4
136 166.2| 83.1| 175.2 0.0 0.0/ 89.3| 132.2 49.1 98.2 49.1/-18349.3
137 168.0| 81.5| 175.2 0.0 0.0/ 90.2| 128.8 47.2 97.4 47.2|-18302.0
138 169.8/ 79.9| 175.2 0.0 0.0 91.2| 1254 45.4 96.5 45.4/-18256.6
139 171.7| 78.4| 175.2 0.0 0.0/ 92.2| 122.1 43.7 95.7 43.7/-18212.9
140 173.5| 76.9| 175.2 0.0 0.0 93.2| 118.9 42.0 94.8 42.0/-18170.8
141 175.4| 75.4| 175.2 0.0 0.0/ 94.2| 115.8 40.4 94.0 40.4|-18130.4
142 177.3| 74.0| 175.2 0.0 0.0/ 95.2| 112.8 38.8 93.1 38.8/-18091.6

19300.0/18638.3(4177.9/2599.8|3036.8 0.0 0.0|12243.2|13146.5| 546.7| -18197.9| -18091.6
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